Comprehension —35
ORDERING OF SENTENCES

In these questions, the first and the last parts of the sentences are numbered S1 and S6. The rest of the sentence is split into four parts and named P, Q, R and S. These four parts are not given in their proper order. Read the sentence to find out which of the four combinations is correct:
1. S1: He was a tall, lovely person.

    P: His eyes brightened when he saw these kids.
    Q: He loved to distribute them among small kids.
    R: The pockets of his shirt bulged with toffees and chocolates.
    S: He wore a long, loose shirt with many pockets.

    S6: He treated them as his own grandchildren.

    The proper sequence should be :
     (a)  PRQS   (b) SQRP (c) PQRS (d) SRQP

2. S1: Tribal crafts reflect the lives of their users, their food and its source.

    P: In the confrontation between food producers and food gatherers, tribal gatherers were defeated and, often mercilessly annihilated.
    Q: This left them deeply distrustful of the developing world.
    R: Most tribals lived in remote forests and, till recently, stayed away from the nearly agricultural villages.
    S: They become insular, withdrew into small integrated groups and occasionally, had barter trade with each other till the twentieth century.

    S6: While some tribes graduated to slash-and-burn cultivation, most relied on fishing, hunting and cattle grazing and their food.The proper sequence should be :
    (a) RSQP (b) QPRS (c) RPQS (d) QSRP

3. S1: "I am the best doctor in the country," said Ratnahari, the Vaidya of Kalinga.

    P: "How sad!" said Nabagopal, the Raj Vaidya of Banga.
    Q: "I have thought of a new method of operation by which I can make a blind person see again."
    R: "Really!" said King Nagendra of Banga. "Will you please tell us about the operation?"
    S: "A woman was once cutting a fish with her kitchen-knife," Ratnahari began. "Suddenly, it missed its aim and hit her eye, instead."

    S6: "Not at all! I immediately changed it and put one from the fish. After a few days, the woman was able to see again".

    The proper sequence should be :
    (a) SRQP (b) QPSR (c) SPQR (d) QRSP

4. S1: My brother took me out with him.

    P: We stood knee-deep in the muddy water of the pond.
    Q: We flung stones to create ripples.
    R: We went to the pond.
 S: The ripples looked enchanting in the light of the sun.

    S6: Pieces of hollow reeds came ashore riding on the ripples.
    The proper sequence should be :
    (a) RQPS  (b) SPQR (c) RPQS (d) SQPR

5. S1: I was accepted by Marco as a member of the family.

    P: I willingly accepted my newly-acquired position.
    Q: Marco was impractical.
    R: Even simple matters appeared complicated to him.
    S: He could only ancient things and write about them.

    S6: His mind was completely in it.
    The proper sequence should be :
    (a) SQRP    (b) PRQS  (c) SRQP (d) PQRS
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